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2 × 7 = 6 × 5 = 9 × 3 = 24 ÷ 4 = 11 × 8 = 

3 × 5 = 45 ÷ 5 = 7 × 7 = 8 × 4 = 12 × 3 = 

8 × 7 = 10 × 6 = 1 × 15 = 5 × 4 = 44 ÷ 4 = 

72 ÷ 8 = 7 × 9 = 15 × 4 = 2 × 0 = 7 × 6 = 

9 × 12 = 2 × 26 = 7 ÷ 2 = 5 × 8 = 9 × 9 = 
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Calculate . Write your answer as a mixed number. 
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Calculate . Write your answer as a mixed number. 
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1) 24 + 395 2) 2.4 × 10 3) 10% of £54 

4) ρ  5) 3 ÷ 0.5 6)  

7)  of £28 8) 0.1 × 0.5 9) 4 ς 2.46 
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Think of a fraction that could fit into each region. 

If you think a region is impossible to fill, explain why!   

More than 0.2 Less than 30% 

‐ 

A B C D 

A 

B 

C 

D 
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Without a calculator, calculate 64% of £76. 

 


